 Advanced I

’ The average (mean) of 7 numbers is 29.
One number is left out and the average : o

increases to 32, What number is left out? o 25 [ .
All B 21 C 29 D 32 S i *
Lindsay recorded ‘Colour || Number ‘E 15 i 2
the colours of cars that [Req | 16 % 10° i

&

went past her house. :
‘ ‘Whit 32
The results are shown e

o FEEL

. Blue 21 : vy
in the table. Silver 12 : Noon 3 P pm ﬁi‘é%t o oo
Other 15 ) Time of the day

Based on these results, . o . .

what is the probability that a car is silver? Over which of the time periods bc:;lpw did
1 1 1 1 : the temperature change the most?

A= B- C= D - :~ A noon to midnight B 3 pm to 3 am

..---:5- ----- I..........6. ............... 7....-.—7.-.”-..8 ........... . C 6 mtoéam D 9 mtog am

Each week, Liam’s class do a test marked : P 2R

out of 100. Liam’s average for the first

six tests is 78/ What must he score in the Ha . :
seventh test to increase Based on this information, what is the

his average to 80? probability that he will be late?

..................................................................... 1 1 2 2

The eye colour of 200 students A 5 B Y C 3 D 3
“was recorded and the results  /AadlEEER ¢ ST D T
were shown in a sector graph. A few entries in this table are mlssmg
What is the best approximation .

- Driver | Passenger |7 Total .
for the number of students whose

i)

7t

---------------------------------------------------------------------

A man has been early or on time for
work on 15 days and late on 30 days.

&

bl
{:"
L.

Me;lﬁ 79 106

eyes are brown? Women X
A 50 B 65 Cs D Total 127

Corey spms “this spmner
60 times. - LaWaly i WO RANEIEE e

Which table is most likely to : The average (mean) age of male workers
show the results? : at a factory was 25 and the average age of

How many women
were passengers?

- A [‘Nurdbes | N B female workers was 35. If there were
- {spun 30 male and 20 female workers at the
factory, what is the average age?
A 29 B 30 C 31 D 32
— ' : A1} Saskia has $100 in New Zealand dollars.
[ Bonber) D [Nomber] Nambir|
| ‘of spins - spun i cof spins : -
25 1 30 : 100 e 100
2 20 2 20 e 75 ; " 2
3 15 3 10 %50 é 50 {5
N + v o
..................................................... [EISCTITITPRN R Z a5 P g5 o
The average (mean) age of 11 cricket : i i
players was 32. The 12th man was : " 0720 40 60 80 100 0 20 40 60 80 100
20 years old. What was the average age - Austratian dollars Australian dollars
of the 12 players? : How much is this

A2 B2 C31 D32 in US dollars? Us$




Temperature at Toptown

l 7 Consider each option.
|

|

|

!

i

FQ\ 250 x 5 -:‘;.
_ , < L A
1 The average of 7 numbers is 29. E % T
Sum of the numbers = 29 X 7 8
=203 % v H L
The average of 6 numbers is 32. , g T T
Sum of those numbers = 32 X.6 ‘ O M. 3 6 9 Mooy
. =192 ) pm pm pm night am  am am
Difference = 203 — 192 o | Time of the day
=11 Between noon and midnight:
The number left out must have been 11. At noon the temperature was 27°.
2 ‘Total number of cars Colour| Number At midnight it was 15°
=16+32+21+12+15 oy 16 Difference = 27° — 15°
= 96 e : =12°
White 32
Probability of silver = 12 Blus 51 Between 3 pm and 3 am:
96 - At 3 pm the temperature was 25°,
= 1. |Siver 12 " At3 am it was 12°
8 | Other b Difference = 25° — 12°
; = 13°

3 Total of first 6 marks = 6 X 78
' = 468
To have an average of 80 after 7 tests:

Between 6 pm and 6 am:
At 6 pm the temperature was 21°.

At 6'am it was 10°.
New total : ';g[(] 80 Difference = 21° — 10°
_ = = 11°
Difference ;‘ ggo — 468 Between ¢ pm and 9 am:

At 9 pm the temperature was 19°,
At 6 am it was 10°
At 9 am it was 15°,
Change = (19° — 10°) + (15° — 10°)
=9 +5°
= 14°
‘The temperature changed the most between
9 pm and 9 am, .

Liam would need to score 92 in his
seventh test.

4 The sector graph is divided into
12 equal parts.
5 of those parts represent students
with eyes that are brown.
Number of students with eyes that are brown

= S % 200 : . I! [Note: The difference in temperature between
1 , | 9 pm and 9 am was not the greatest but the
= 83.333... : j change in temperature over that time period was
Of the choices the best approximation is 80. the greatest.}
5 The spinner shows 1 three times, 2 twice and
3 once. : o 8 Te was late 30 out of 45 days.
So in 6 spins you would expect to get o . 30
1 three times, 2 twice and 3 once. Probability of being late = 7

In 60 spins you would expect to get
1 thirty times, 2 twenty times and 3 ten times,
The table in Option D is the most likely resuit.

=2
3

6 The number of men who were passengers

Total of the ages of 11 players : = 226 -1

=11 X 32 =

=352 : S The total number of passengers is 127.

Total of the ages of 12 players : The number of women who were passengers
=352 + 20 =127 - 27

=372 - =100 A |

Average age of the 12 players T Dnver Passenger “Tofal
=n=12 Men 79 27 106
=31

Women -100
Total 127




10 Sum of ages of male workers

1

=30x25
= 750
Sum of ages of female workers
=20 X 35
= 700 A .
Total of all ages = 750 + 700
= 1450
Total workers = 30 + 20
=50
Average age = 1450 + 50
=29
NZ$100 = A$80

NZ to Aus Doliars

11
13

-
]

:

7

o
.

NZ dollars
LA
(=]

]

D" 20 40 60 80 100
Aaustrallan doliars

A$80 = US$60

TS to Aus Dollars

g

-3
(7Y

US dolkars
88

et
i
T

9 20 40 60 8 100
Australian dolars

Saskia would have US$60.



